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次の計算をしましょう。 

① 2𝑥 × 5𝑥          

＝10𝑥𝑦 

④ −6𝑦 × 2𝑥𝑦 

＝−12𝑥𝑦² 

⑦ 10𝑦 ÷ 5𝑦 

＝2 

⑩ －8𝑥ଶ ÷ 8𝑥 

＝−𝑥 

⑬ 
１

２
𝑥 × 8𝑥𝑦  

＝4𝑥²𝑦 

 

⑯ 3𝑥² ÷ 6𝑥 

＝−
３௫×௫

１
×

１

଺௫
 

＝−
１

２
𝑥 

 

② 3𝑦 × 5𝑥 

＝15𝑥𝑦 

⑤ 10𝑎 × (−2𝑎) 

＝−20𝑎² 

⑧12𝑥ଶ ÷ 3𝑥 

＝4𝑥 

⑪ 16𝑥𝑦 ÷ (−2𝑦) 

＝−8𝑥 

⑭ −3𝑥ଶ ×
１

２
𝑥 

＝−
３

２
𝑥³ 

 

⑰ −12𝑥𝑦 ÷
３

４
𝑥 

＝−
１２௫௬

１
×

４

３௫
 

＝−16𝑦 

 

③ 3𝑎 × 𝑎² 

＝3𝑎³ 

⑥ −𝑥ଶ × (−2𝑥) 

＝2𝑥³ 

⑨ 20𝑥𝑦ଶ ÷ 5𝑥𝑦 

＝4𝑦 

⑫ −36𝑥ଶ𝑦ଶ ÷ (−9𝑦ଶ) 

＝4𝑥² 

⑮ (15𝑎𝑏ଶ) × (−
３

１０
𝑏) 

＝
１５௔×௔×௕

１
× ( −

３ｂ

１０
) 

＝−
９

２
𝑎²𝑏² 

⑱ 12𝑥𝑦 ÷ (−8𝑥ଶ) 

＝
１２௫×௬

１
× ( −

１

８௫×௫
) 

＝−
３௬

２௫
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1 
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